1. (10 pts)
i

(a) Find the area of the triangle with vertices (-3,1,—4),
and (1, -3, —2). '
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(2,0, -5),




2..(10 pts) Two forces are acting on an objecf'

® a force of (3,5, -2) is applied at the point (—1,2,0);
® a force of (—4,5,3) is applied at the point (=2,3:1):

(a) Find the total torque, relative to the origin, caused by these two

forces.
§ O g0 S 2 5
’rﬁ e, X .= <"1 2/ 7 NS 4
IS
s Y ok W — )f+ ;( JE% SER g ' |
. B 7 | .

uld the object rotate? You can indicate your
rows on the axes provided below.




3. (10 pts) Consider the line defined by
m(t) = (=3 +t,—3 + 6t,1 — 2t)
and the plane
08 ~2Yy'—32=06.
7/ (&) (2 pts) Explain briefly why the line is parallel to the plane.
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(b) (2 pts) Write down any point P on the plane, any pomt Q@ on the
lme and find the vector I@
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(d) (2 pts) Compute the magmtude of the projection you computed in
part (c). L —=
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" (10 pts) For a physics experiment, you build a machine that subjects an
object to an acceleration of 4

a(t) = (8cos(2t), 12sin(2t), cos(t)).

The object starts from rest (i.e., with zero velocity) at the position
(2,-3,1).

(a) Find the position of the object as a function of ¢.
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chine at time t = 7, 8O that from then on
celeration, and thus moves in a straight
as going at that instant. (Assume this
ace, so there’s no gravity or friction.)

of the object 3 seconds later (that



